OMmRON
f2F39-FMAL ]

WF3SG-SR/PGY ) —XH
22T TEHRXER

IR

FLOVEGE BBV LEFOALZH UL ES ZEVET, FRRIEH
F3SG-SR/PGAI2—FT 4 > 7Y X2 NTT, ABRRAFHFES
NBBRICOVWTTHRHCEE I TV S [EEE] vSRURVCEE
Vo REOHRT [EEE] &IEBOKRE - RE - R - R - BEOD
BEREICHEVT. REBREITI-ODERSIVEREBBEDH DA
MOZETY., CERDHICAEEFBICRBROBBY -2 7% &<
BHMAVELEZTHCIEBOL, ELSSHEACEEV, FERWVD
THEWMTEHLDIIC, BFRICKINSREL T LS L,

ALO2HFAEAE

© OMRON Corporation 2020 All Rights Reserved.

SAFETY,
TECHNOLOGY
& INNOVATION

5611457-7 B

®: JFIVRHEDEA

ELOEREBWE LA FNIE, COBROEHIC, BFICFETIC
EokW, EBEEIGZELERIVEBET, £/, FHRICHE
ZAEMPBEEZ BB NHY)ET,

ELOVERWE LA FNIE, COBRDAEHIC, BE - i
ENEEEE -7z, B—DBEICIEEEPETICV 5%
WhHNET, £/ ARICEXCYNEZ 2T 2B0D
HVET,

Q@ZE HXRTDE

FALEDITER

SIS NEIERAE. FRENTE. X A I3 1EEE
ZEEFoTLEI L,

CRDE D BIBFRICIIFRE - KB LEVWTLES L,
-BEELGEESMREOSEE B A D5

IS NI TE MR, BIESMYT - XZEEBPLETO
T, FRHLEWTLEE L,

cHEBEANOBREBEMC 2D, LUTO

TERE & 1ERE

BE F39-FMALILICIC]

BAEY FF3SG-SR/PGY U —X *

BEERE B{ERF: -30~55C. fR1FEF: -30~70C
BEERE B)ERS: 35~85%RH. {17k 35~95%RH

it iRED 10~55Hz, #BIRIE0.05mm. XYZ&AFE20485]
i T 150m/s?, XYZ&AE6E

ME TIVIZYLEER (7 — L) . HEEESER (BUTER)
RUH—Kx— b (5—TFHN=) | PBTHIEE (Z DfthistAsER)
HREEIERIR (FI5E - FF39-LMAF1)

HE F/F39-FMA150T : 5008 (HREIRAEE)
F/F39-FMA400T : 8508 (HRaIRAE)
F/F39-FMA150R : 540g (1RaikEE)
#/F39-FMA400R : 880g (1R 1kaE)
FYF39-LMAF1 : 590g (HR@ikEE) *Rl5E

F39-FMA Ia-Fq I Y Ras KAE (AE) x1
OOt ST TELHREL KA (EE) X1
EUREEEAE X 1
(BBEI1—F | 32—-FT4 T E>HRMAATIZAZY X8 (M3X12mm)
12T %A) | WF39-STRFTAAANM &AL b x4 (M6X14mm)
FF39-STRUTAA S v kX4 (M6)
Ia-FarTEIYREL KKK (BR) x1
Eﬂ FDS%E’\SA Ta-F4 T U HREL KAk (EE) x1
i REPRIA 757 v kX2
(ElfE R E&HE IIREHEAE X 1
NEE S P 32T TEYBMABAT I X% I x4 (M3X12mm)
) REWBMAEATZ X% x4 (M3X10mm, 2y EX T %)
FF39-STEUTHAA N &AL kx4 (M6X14mm)
FF39-STEfTAmAF v kX4 (M6)
Ia-Ta T Y Xa L FEELE X1
F39-LMAF1 F39-LMAF1 B AIA AT & KL K X8 (M4x8mm)

BELEW—MROETHEELEY 58%

*la-Ta U HZRe L FEESE (A%  WF39-LMAF1) (&, B&EKR280mmd /N & L

O
@

BELEW—RNETREIERY 8%

F3SG-SR/PGICIIERTE €A,
B

i

CEAZ)

|}|

EHMEELCER@Y ICHRIETES 2 &, /-0 BRI TLEE
DEHZBMELEVEFZ T RI5EICRERENDRLER/LES 2
ELESHBMEES ICFLETES I E ML T 280, EEY

TETWEWKRETHINEFER LTS &, EGEPRTICESE
PDEBEYLIRES G ABERENERBL TLLS WV, BROK
WEEENERT B EIELKEEL BB, AMEPIEES h
7. BEEESIBANHYET,
RELDESR
HUTICRTEO4EBRLRL e BRTILTUELIETTDTRUTF-T
{F2EW,
-BRESN AN H BGFR
-ERTED 51 3 L EDIRENICEE S AEICED B 5T
-Bo\ G EBREIEB A BI5A
2T LT Y RFREOREMT LY D 0.53N-mUT (M3% ¥ &{EH)
“Xa-Ta TR YBIT Iy FEEROKEMS LY D 0.8N-m (M4x
2 &{ER)

e Ed,

32T T HRBBEIEIMEEAGORFINTE S &
CRDE S BIBATICIIFRE - B L AEWVWT LIV,
CRIRAEETIREVWTCEIL,
- FF39-LMAF1 BB DE(T RV 3.ON-m (M4KJL k% {EMA)

= B3
IICEBL TSV, MRCRIEL T 2 —7 « > THEEN B
-ESBXE E. BOSELLD B 7 BI5ER
M EEPEEICHERT 57 U ISAZOHIE LTI > THRERICH D TS
- FF39-STEUfHBE DMFEfT bV Y @ 4.3N-m (MK IV b % {EF)

FF3SGDEEBEXRFRE. & UHBEMEIE S X 7 LANDIAA A 0
WBE. S EESTEEZES RIS E T,
SRENEL. BETIBAN H DG
720,
ERALTWIENHY T 2EEMNIBRANCHK > TEEL T3,

4. 32T TEHREURKEKICI 2 —F LT HERBOZY (3)

<Ia-F1 Tt ¥4 REIEELE (WF39-LMAF1) %{EMA L /2B 1>
1. 32a—F1>7€2 922 FEELEDFRIL N (1) 2EHET, (H1)

Ak (1) = EH3

B
|>| Ia-Fq Tk HREL FEESLE
= 1

2. UF3SG-SR/PGO#IEXx v v 7&H L., Sa—FTr>T€>¥xXa> F‘Eﬁﬁﬁ%%FSSG-SR/Pg

DEFRDEANFEAL T, BRHIBICEDEIRET, KL b (1) ERBHO LTSN, 32 -7
12T Y RE L FEELE WY 1. iEx v v 7 &HF3SG-SR/PGICEW fH13 L T #
e KL L (1) OHBHDM ML TIE3O0N-m. #IFExX + v T%JIE0.35N-mTT, (K2)

2. EHRDEIC
BALT
274K

#2422 REESLE
DEAHLE 1.
7 F3SG-SR/PG - &
HAOBRfFEENEY

: fFTFohsdxN—2
=2 - ERRLTEE L,

B 32T T HYIXE L FEAEREBICI 2 —T (> TR RAFOERIE AR/ E I 2 —

FALTE Y2 REELEICHBORIL & (2) (RARMEZRIL MMAX8) TEAELET,
FIL b (2) OHWRRHEDMTF MILZIEZON-MTT, (H3)

N i)
KLk (2)

- e s A
(M3x12) T{RE
ELET,

FF39-FMALILILIRE{£EMA ¥ 235 & 13, REMRERFERA TS 7 v MCRFBEOR D (4)
(M3x10) TEEL, 22—71>7t>HX2> FAFICHBEORY (3) TREEL T,
2T (4) OHEREDHFI LY IZ0SIN-MUTTY, (X4)

AT TR ERIFIBEE - RERERY 1 355

RS HRER AT
PN

R

5. WF3SG-SR/PGEANIF£E#EMAL T, BEANEMMEICEHE THEBE L. K#AEZ LT
BIE L %7, BF3SG-SR/PGOWftAEIE. HF3SG-SR/PGL—H—Xv =17 ESBL T
Ty,

6. I1—FTALTEIHICMBAR I X — T EHERE L CERE AN, XMBREETVET,

1=TFTA T EYEBRG TS5y fDXY (B) 2D, Ia—T1 T YOMBEREL

TLESW, F—TIANR—BHTZENTEET,

/2, Ia—Fq LT LY RAGBHEIICEE0 RETEET,

KHBENS TE25, 2T (3) . T (6) EAMOLTLLEEN, ERFHFHT MLTIE, T

(8) 130.53N'mTF. % (5) 130.8N'mTT, (5)

11111

* AR ZED X N— X H8OmmELE &
2 (5) BHEEA ML= BV Y b 40~
8OMMODIHZE LKV ry hDIAX T &
T=TNEZERLEE N,

B 5
7. 32—-F4 T HERELES, F—TNAN—%BLTT— LEOECS—TILEA L, 7
—TWHN-%TICRLET, (X6)

—TIAN—%EFLT
4 — 7V & U

6 =TI HIN—

<7A7EBERZ 2K (BF39-STLIICIC]) ~OEY) >

1. JO7HEBEIX 2 ROX vy 7 (1) &4 L. EROEANFMAOmAS Y b (1) 2FAL T, B
MBICEDELRET, 32—FT 1272 H X2 RABICHBORILE 3) TIa—F1>7
Y XL RAGBEBRELET, KL L (3) OHBEHOM I MILTIZ43N-MTT,
32-TA TR RARERIFUE. JOT7HBX 2 ROx vy 7 (1) £xTICRL

7. (@D
@ %E%@%L:ﬁlb‘(x%f )

*vv7 (1)
S
l 27?_'71&17"v b))
A EIDAS (3)

T

JO7EREBERXZ K =7

2. LUEDFIEE, I2—FT1>7t>H%242> FEELE (WF39-LMAF1) %Z{EA L=V FFDF

JIE6LIRE % 770N ; °
ST AR

Za-Fq Tt ¥R R (FWF39-FMALILIC-0)

[BAT : mm]

L
32|
40
——F m:-
— =
T—=TIHIN— (BEEPTRE)

84
69.7
46
v\‘e@
o

3.2
40
1
e En e
I

T \ . o " . o)
=T HN— (EETFLE) =
iz sHEL ©
f,F39-FMA150[] 158.2
f2F39-FMA400[] 408.2

Yz

1—=TF4 T H a2 FEEELE (55 : FHF39-LMAF1)

36.1
(5.8)

*‘a

79
+
69.7
94

48.4

- MfFTE
31T TR N FAMH-FOEAELE (WF39-LMAF1) (ZFF39-FMALILIOIC-T
ERN 354

(47) L

24.9 (33.2) |
| €-—IFATA bH—F> p
(FF3SG-SR/PG) q

e e s s B = |

i

(24.7)

\

iz ~HEL
MF39-FMA150(] | 182.4
F39-FMA400[] | 432.4

JO7HRBR 42> K (FF39-STULLID) (ICHF39-FMALILICIC-RE I 11 3184
L

JO7REBERXZ R

(FF39-STLILICIC)

(58.2)

(48.7)

(54.2)

T—F 1 Ft

@
D

w=TF 1T hH—T> -
(FF3SG-SR/PG) 1—7 1 2T REHR
(F4E39-R1S)

N

i ~HEL
MF39-FMA150[] | 203.2
F39-FMA400[] | 453.2

BT Za17I

Y= a2 T7IVER
t—77145414 bH—F2WF3SG-SRY ) =X
IIWFE—Lt—TF7 1Y HF3ISGPGY ) —X
A-H—-X3=aTN

CIHKEREIR

LitmEmmd, — R ITERREONBAREVTRETRESN TOET EVEL TR

ST BB TOFEREERL TH5 T, $BEHN BHEREINSDORBICHERS

MBI IE, Bt MRS T—PMREEEV L E B Ao 722U RICIBIT B

B TH-TH HHDOBRL AR EERAEDB S PENDERN HBHE MRE

E3 28

(a) BWReMNBEESNDAHE (BlRFAHIEER . M. M2 FEE
fifr, ShBEX R FRER R IREEER R, EAMESR. R2RE. TOMES-FHICE
B RUHBHE)

(b) BVWMEREMENSDELARE (FlAR-KE- BEREOHIES ZT L, 24FFEIERE
B AT LORFED AT LEDHEF- B EE BRSO &5 L)

(©) BLWRHELRRETORRE (FBHMIRE T B5%1F. LFHERER DK
fif. BRAVIHZ £ D ME. IRE)-FEEZ TR M L)

(d) H2OTFEICKHOEVWRAPRIECOARE

YZaTINVES

SGFM-726

* (@SSR HIN TV, AH2O TSR HOERIIBEE (ZHEST, LU
TRU) M TIEHNEL A BEVEITIEETIRAEICIEFIALAWT TV, BE)
HEHAEMRICOVWTIE Y EERYFCTHEHRIEI,

Y FREIGEEREDOERMGD—E T, Y DONIMNBEHEOY . 7F—2— R
HRDOHEOT 7 =2 TIVURE ORI R EEBORNBELIGRATIERLE
3,

ALOMKEH 12 42N IV A —bA—2 a3  ES R I P I S=—
QO SICHATABRVEhEE
BEEMERE ,

197 FLO>
53 0120-919-066
HEEE-PHS IPEEAETHIHAVWAELTEEAD T, FREDEEE SN B/,
235 055-982-501 5 asnsnruzs)
WE %8R © 8:00~21:00 WE%H : 365H
OFAXPWebN— ¥ THBMNEhEWELETET,
FAX 055-982-5051 / www.fa.omron.co.jp

O ZNDBEVEDE

WE - A% - YTV - IEEEEMOBIEIE. FAEEM
BYAF LOVRFRICTHRLS ZEW,

A L0 HIEIEERERSEE X 4 LA O D ERFEHLE IS, WebX—F T
CEARALTVET,

BUTWECHBREEEERTEZEF BN ETDTITHRLLLEE L,




OMmRON
Model F39-FMALO

Muting Sensor Arm Mounter for F3SG-SR/PG

SAFETY,
TECHNOLOGY
& INNOVATION

INSTRUCTION SHEET

Thank you for purchasing the product. Be sure to have F3SG-SR/PG and this product
be handled by a "Responsible Person" who is well aware of and familiar with the
machine to be installed. The term "Responsible Person" used in this document means
the person qualified, authorized and responsible to secure "safety" in each process of
the design, installation, operation, maintenance services and disposition of the
machine. Read this document and user’s manuals of F3SG-SR/PG series thoroughly
to understand and make good use of the descriptions before installing and operating
the product. Keep this document at the place where the operator can refer to whenever
necessary.

© OMRON Corporation 2020 All Rights Reserved.

5611457-7B

Safety Precautions

eMeaning of Signal Words

Indicates an imminently hazardous situation which, if not
avoided, is likely to result in serious injury or may result
in death. Additionally there may be severe property
damage.

/\DANGER

Indicates a potentially hazardous situation which, if not
avoided, will result in minor or moderate injury, or may
result in serious injury or death. Additionally there may
be significant property damage.

/\ WARNING

eAlert Statements

A DANGER

Make sure that the machine can be controlled correctly and as
intended. Also make sure that the machine can be stopped
immediately at any time of the operation cycle without danger to
machine operators when the machine behavior does not meet
safety-related requirements. Otherwise, continued use of the
machine may result in serious injury or death.

A WARNING

The F3SG must be installed, configured, and incorporated into a
machine control system by a sufficiently trained and qualified
person. An unqualified person may not be able to perform these
operations properly, which may cause a person to go undetect-
ed, resulting in serious injury.

Install muting sensors so that they can distinguish between the
object that is being allowed to pass through the detection zone
and a person. If the Muting function is activated by the detection
of a person, the machine may not stop operating, resulting in
serious injury.

Precautions for Safe Use

Make sure to observe the following precautions that are necessary for ensuring
safe use of the product.
« Do not install, use, or store the product in the following types of environ-
ments:
- Areas exposed to intense interference light, such as direct sunlight
- Areas with high humidity where condensation is likely to occur
- Areas where corrosive gases are present
- Areas exposed to vibration or shock levels higher than in the specification
provisions
- Areas where the pollution degree is harsher than 3, such as outdoor
environment
* Do not drop the product.
* Make sure that the mounting brackets, fixing screws are properly secured
with the torque recommended in this document.
- Muting sensor mounting: Max.0.53Nem (use M3 screws)
- Muting sensor bracket mounting: 0.8Nem (use M4 screws)
- Mounting to the F39-LMAF1: 3.0Nem (use M4 bolts)
- Mounting to the F39-ST: 4.3Nem (use M6 bolts)
« Dispose of the product in accordance with the relevant rules and regulations
of the country or area where the product is used.

Precautions for Correct Use

Observe the precautions described below to prevent operation failure,
malfunctions, or undesirable effects on product performance.

Do not install, use, or store the product in the following types of environments:
- Areas with a temperature or humidity out of the specified range

Do not use thinner, benzene, or acetone for cleaning. They affect the
product's resin parts and paint on the housing.

Ratings and Specifications

Item F39-FMAODOOO

Applicable Sensor F3SG-SR/PG Series *

Ambient Temperature Operating: -30 to 55°C, Storage: -30 to 70°C

(non-icing and non-condensing)

Ambient Humidity Operating: 35% to 85%, Storage: 35% to 95% (non-condensing)

Vibration Resistance 10 to 55 Hz, Multiple amplitude of 0.05 mm, 20 sweeps for all 3 axes

Shock Resistance 150 m/s? , 6 shocks for all 3 axes

Material Arm: Aluminum, Mounting plate: SPHC, Cable cover: PC,
Other plastic: PBT
F39-LMAF1: SPCC (Sold separately)

Weight F39-FMA150T: 5009

(when packaged) F39-FMA400T: 8509
F39-FMA150R: 5409
F39-FMA400R: 880g

F39-LMAF1: 590g (Sold separately)

Muting sensor arm mounter (Right) x 1

Muting sensor arm mounter (Left) x 1

Instruction Sheet x 1

Cross-head screw for Muting sensor x 8 (M3 x 12mm)
Hexagon socket head bolt for F39-ST x 4 (M6 x 14mm)
Square nut for F39-ST x 4 (M6)

Included accessories
F39-FMAOOOT

(for The through-beam
muting sensor)

Included accessories
F39-FMAOOOR

(for The retroreflective
muting sensor)

Muting sensor arm mounter (Right) x 1

Muting sensor arm mounter (Left) x 1

Reflector mounting bracket x 2

Instruction Sheet x 1

Cross-head screw for Muting sensor x 4 (M3 x 12mm)
Cross-head tapping screw for Reflector x 4 (M3 x 10mm)
Hexagon socket head bolt for F39-ST x 4 (M6 x 14mm)
Square nut for F39-ST x 4 (M6)

Included accessories
F39-LMAF1

Muting sensor arm mounter bracket x 1
Hexagon socket head bolt for F39-LMAF1 x 8 (M4 x 8mm)

* The Muting sensor arm mounter bracket (F39-LMAF1) cannot be used for the F3SG-SR/PG with a
product length smaller than 280 mm.

Installation

< Mounting with Muting sensor arm mounter bracket (F39-LMAF1) >
1. Loosen the Bolt (1) of the Muting sensor arm mounter bracket. (Fig. 1)
Bolt (1) S

Fig. 1 Muting sensor arm mounter bracket
2.Remove the End cap of the F3SG-SR/PG and slide the Muting sensor arm mounter bracket in the groove
of the F3SG-SR/PG housing. Then adjust the Muting sensor arm mounter bracket to the mounting position
and securely tighten the Bolt (1) to the housing of the F3SG-SR/PG. After mounting the Muting sensor arm
mounter bracket, attach the End cap to the F3SG-SR/PG. The recommended torque to tighten the Bolt (1)
is 3.0 Nem and the recommended torque to tighten screw of the End cap is 0.35Nem. (Fig. 2)
e

2. Slide into the
groove of the
housing

Install the Muting
sensor arm mounter

bracket so that there
is enough space to
install the dedicated
brackets to
F3SG-SR/PG.

End cap
Fig. 2
3. Securely tighten the included Bolt (2) (hexagon socket head bolt (M4 x 8) ) to fix the Muting sensor

arm mounter (Right) and the Muting sensor arm mounter (Left) to the Muting sensor arm mounter
bracket. The recommended torque to tighten the Bolt (2) is 3.0 Nem. (Fig. 3)
—

Securely tighten

Bolt (2)

7 Muting sensor arm mounter (right)

.-\-“l“

Fig. 3 [Position the muting sensor mounting surface at the bottom ]

4. Temporarily tighten the included Screw(3) (M3 x 12) to fix the Muting sensor to the Muting sensor arm
mounter. When using the F39-FMAODOOR, securely tighten the included Screw (4) (M3 x 10) to fix the
Reflector to the Reflector mounting bracket and temporarily tighten the included Screw(3) to fix it to the
Muting sensor arm mounter. The recommended torque to tighten the Screw (4) is Max. 0.53 Nem. (Fig. 4)

*Mounting the Muting sensors

Temporarily tighten

Screw (3)

*Mounting the Reflectors

2. Temporarily tighten

Screw (3)

Reflector

. mounting
Muti
uting sensor . i
Fig. 4 1. Securely tighten =~ < rew (4) Reflector

5. Mount the F3SG-SR/PG with the dedicated Brackets to the mounting position of the wall surface.
Then perform beam alignment for the F3SG-SR/PG and fix the F3SG-SR/PG. For the procedure,
refer to the F3SG-SR/PG User's Manual.

6. Connect the M8 connector cable to the Muting sensor and turn on the power. Then loosen the
Screw (5) of the Muting sensor mounting bracket and perform beam alignment for the Muting
sensor. The Cable cover can be removed.

The Muting sensor can be adjusted + 50 degree in the direction of rotation.

After perform beam alignment, securely tighten the Screws (3) and Screws (5). The recommended
torque to tighten the Screw (3) is Max. 0.53 Nem and the recommended torque to tighten the Screw
(5) is 0.8 Nem. (Fig. 5)

* If the clearance around the connector is
80 mm or more, use a connector cable
with a straight socket. If the clearance
is 40 to 80 mm, use a connector cable
with an L-shape socket.

2. Securely tighten

Screw (5)

M8 connector cable *

(t
3. Beam alignment
Adjustable within + 50 °

Fig. 5

7. After fixing the Muting sensor, turn the cable cover to store the cable in the groove of the arm, and
then replace the cable cover. (Fig. 6)

Turn the cable cover
to store the cable

Fig. 6

< Mounting with Floor mounting column (F39-STOOO-0O) >

1. Remove the Cap (1) of the F39-ST and slide the included Nut (1) in the groove of the F39-ST
housing. Then adjust the Muting sensor arm mounter to the mounting position and securely tighten
the Bolt (3) to the housing of the F39-ST. The recommended torque to tighten the Bolt (3) is 4.3 Nem.
After mounting the Muting sensor arm mounter, attach the Cap to the F39-ST. (Fig. 7)

@ @ 2. Slide into the groove of the housmg]
l 27 Square nut (1)

paz
3. Securely tighten
: o1 3

Floor mounting column Fig. 7

2. For the subsequent steps, perform step 6 and 7 of < Mounting with Muting sensor arm mounter
bracket (F39-LMAF1) >.

» Assembly Dimensions
Mounting F39-FMAODOOO-T on Light curtain bracket (F39-LMAF1) for Muting sensor arm mounter

(47 L
24.9 (33.2)

-

\

Safety light curtain
(F3SG-SR/PG)

e e s s
] {00 fim FleI
] Muting sensor 00
3 (E3Z-TOOA)
9

Model Dimension L

F39-FMA15000 182.4

F39-FMA4000 432.4

Mounting F39-FMAOODODO-R on Floor mounting column (F39-STOOOO)
L

Floor mounting column
(F39-STOOONO)

(58.2)

(48.7)

<
<~
Qv
— Safety light curtain p
(F3SG-SRIPG) Muting sensor reflector

(E39-R1S)

Model Dimension L
F39-FMA1500 203.2
F39-FMA4000 453.2

Reference Manuals

Document Title Cat. No.
Safety Light Curtain F3SG-SR Series
Multi Beam Safety Sensor F3SG-PG Series Z405-E1
User's Manual

External Dimensions

Muting sensor arm mounter (F39-FMAOOOO) [Unit: mm]
|\
L
32 |
<[ — %
3|3 m 1 [ I
wn
(:J; \_Cable cover (detachable)
u
B
2
Vo
'L,L,q)
~
(| ©
=i @ B ¥
\ Cable cover (detachable) o )
Model Dimension L «
F39-FMA1500 158.2

F39-FMA4000 408.2

Muting sensor arm mounter bracket (F39-LMAF1, sold separately)

’;Q
T &
52
32
W,
A
5
~
S 3 3
#
48.4

Suitability for Use

Omron Companies shall not be responsible for conformity with any standards,
codes or regulations which apply to the combination of the Product in the
Buyer’s application or use of the Product. At Buyer’s request, Omron will
provide applicable third party certification documents identifying ratings and
limitations of use which apply to the Product. This information by itself is not
sufficient for a complete determination of the suitability of the Product in
combination with the end product, machine, system, or other application or
use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer's application, product or system.
Buyer shall take application responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS
RISK TO LIFE OR PROPERTY OR IN LARGE QUANTITIES WITHOUT ENSUR-
ING THAT THE SYSTEM AS A WHOLE HAS BEEN DESIGNED TO ADDRESS
THE RISKS, AND THAT THE OMRON PRODUCT(S) IS PROPERLY RATED
AND INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL EQUIP-
MENT OR SYSTEM.

OMRON Corporation (Manufacturer)
Shiokoji Horikawa, Shimogyo-ku, Kyoto, 600-8530 JAPAN

Contact: www.ia.omron.com

Regional Headquarters

Il OMRON EUROPE B.V. (Importer in EU)
Wegalaan 67-69, 2132 JD Hoofddorp
The Netherlands
Tel: (31)2356-81-300/Fax: (31)2356-81-388

I OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

Il OMRON ASIA PACIFIC PTE. LTD.
No. 438A Alexandra Road # 05-05/08 (Lobby 2),
Alexandra Technopark,
Singapore 119967
Tel: (65) 6835-3011/Fax: (65) 6835-2711

Il OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-5037-2222/Fax: (86) 21-5037-2200




